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Correlation Silhouette
<s>= 0.36

MSC1

<s>=0.52

MSC2

<s>=0.22

MSC3

<s>=0.23




G1_mel
G10_mel
D5_mel
F6_mel
B12_mel
F7_mel
F3_mel
C12_mel
A7_mel
C4_mel
F1_mel
A4_mel
D12_mel
H3_mel
G11_mel
E8_mel
E1 _mel
A8 _mel
D11_mel
C3_mel
C1_mel
F4_mel
H2_mel
D2_mel
B1_mel
Al1l_mel
E3_mel
B7_mel
C5_mel
F2_mel
A12_mel
A2_mel
C7_mel
D3_mel
A3 _mel
H12_mel
G8_mel
B2_mel
Al_mel
H7_mel
G3_mel

B6_mel

<rysci>= 0.58
<rysci > = 0.53
<rwsc1>= 0.57
<rwsc1>= 0.58
<rwsc1>= 0.53
<rwsc1>= 0.49
<rwsc1>= 0.56
<rIwsc1>= 0.53
<rIusci>= 0.57
<rIusci>= 0.47
<rIusci>= 0.57
<TIusci>= 0.58
<rIusci1>= 0.54
<Tmsci1>= 0.43
<rIusci>= 0.44
<rIusci>= 0.45
<Tmsci1>= 0.54
<rIysci>= 0.52
<rIusci>= 0.43
<rIusci>= 0.32
<rIysci>= 0.51
<rysci > = 0.38
<rusc1>= 0.44
<rIusc1>= 0.28
<rwsc1>= 0.43
<rwsc1>= 0.44
<rwsc1>= 0.21

<fusc1>= 0.3
<rIusci>= 0.25
<rIusci1>= 0.19
<rIusci1>= 0.38
<rIusci1>= 0.39
<rIusci1>= 0.29
<rIusc1>= 0.14
<TIusci1>= 0.28
<rIusc1>= 0.18
<rIusc1>= 0.31
<Iwsc1>= 0.18
<rIusci>= 0.31
<rusci>= 0.15
<rusci>= 0.23

<rysc1>= 0.2

< rysca> = -0.33
<ryscy > = -0.33
<rImscz>= —0.28
<rwscz2 > = —0.27
<rwscz2 > = —0.32
<rwscz2 >= —0.33
<rwsc2 >= —0.25
<rwscz2 > = —0.29
<rIusce > = -0.23

<rIusc2>= 0.3
<rIuscz>= —0.19
<rIuscz>= —0.16

<rIuscz>= —0.2
<TIuscs>= —0.29
<TIuscz>= —0.26
<TIuscz>= —0.23
<TIuscz>= -0.13
<rIusce > = -0.13
<ryscs > = -0.17
<fuscs > = —0.24
<rIuscz > = -0.02
<rysc > = ~0.09
< rysca> = -0.02
<rwscz>= —-0.17

<rwscz2 >= 0.02

<rwscz2 >= 0.05
<rwscz>= —0.15
<rwscz2 > = —0.04
<rIuscz>= -0.08
<rIuscz>= —0.13

<TIuscz2>= 0.05

<TIuscz2>= 0.08
<TIuscz2>= —0.02
<TIuscz>= —0.13

<Tmscz2>= 0.04
<Twscs>= -0.04

<rIuscz>= 0.11
<rIuscz>= -0.01

<Iwsc2 >= 0.13
<fuscz>= -0.01

<rIuscz>= 0.13

<rwscz>= 0.24
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O
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MSC2

MSC3




A10_mel

E4_mel

A9_mel

B5_mel

C10_mel

E7_mel

A6_mel

A5_mel

B11l_mel

D7_mel

E6_mel

D4_mel

D1_mel

E5_mel

G4_mel

D6_mel

F11_mel

B3_mel

F5_mel

F9_mel

H4_mel

H5_mel

G6_mel

G5_mel

B10_mel

<rIusce > = 0.43

<rIusc2>= 0.31

<TIuscz2>= 0.36

<Tmscz2>= 0.43

<rIwscz>= 0.3

<fmscz>= 0.4

<rmscz>= 0.27

<Iyscz>= 0.4

<ruscz > = 0.37

<rIwscz2>= 0.33

<rwsc2>= 0.34

<rwsc2>= 0.21

<rIusce > = 0.24

<TIuscz2>= 0.28

<TIuscz2>= 0.35

<TIuscz2>= 0.35

<rIusc2>= 0.2

<rIuscz>= 0.34

<ruscz > = 0.26

<rImscz>= 0.12

<rvscz>= 0.05

<rwscz2>= 0.17

<rIwscz2>= 0.22

<rIusce > = 0.17

<Ivscz >= 0.02

<rIuscz>= 0.02

<TIuscs>= —0.08

<TIuscz>= —0.01

<TIuscs>= 0.08

<rIusci1>= -0.03

<rIuscs>= 0.07

<ryscs>= -0.04

<rmsc3>= 0.09

<rImsc3>= 0.08

<ryscz>= 0.04

<rwscz>= 0.06

<ruwsc1>= —0.06

<rIuscz>= -0.02

<TIuscs>= 0.06

<TIuscs>= 0.17

<TIuscs>= 0.18

<fmsci1>= 0.04

<rIusc3>= 0.18

<rIwscz3>= 0.1

<ryscz>= 0.02

<rwsc1>= -0.05

<rIwscz>= 0.08

<rwsc1>= 0.19

<rIuscz>= 0.17

<Ivsca>= 0.05

MSC1

MSC2
MSC3



G2_mel

E11_mel

E12_mel

B4_mel

C8_mel

C9_mel

B8_mel

D8_mel

C2_mel

H11_mel

D9_mel

H1_mel

G12_mel

G7_mel

F10_mel

F12_mel

H6_mel

F8_mel

B9_mel

D10_mel

G9_mel

E10_mel

E9_mel

C6_mel

H10_mel

<TImscz> =

<Tuscs> =

<Tmscs> =

<Tmscs> =

<Tmscs> =

<Tuscs> =

<Imsc3> =

<Tuscs> =

<Twsc3> =

<Twsc3> =

<Twsc3> =

<Twsc3> =

<TImsc3> =

<Tuscs> =

<Tmscs> =

<Tmscs> =

<Tmscs> =

<Tuscs> =

<Tuscs> =

<Tuscs> =

<Twsc3> =

<Twsc3> =

<Twsc3> =

<TImscz> =

<fuscs> =

0.46

0.36

0.44

0.45

0.33

0.36

0.42

0.42

0.31

0.29

0.37

0.22

0.26

0.14

0.27

0.31

0.19

0.35

0.11

0.18

0.19

0.31

0.08

0.18

0.11

<rIvscz > = -0.05

<rIuscz>= —0.12

<TIuscz2>= —0.03

<TIuscz>= 0.01

<ryscz>= -0.1

<rIuscz>= -0.03

<ruscz > = 0.03

<rImscz > = 0.03

<rmscz>= —0.05

<rwscz2 > = —0.05

<fuscz>= 0.1

<rwscz2 > = —0.03

<rIusce > = 0.02

<rIusci>= —0.07

<TIusc2>= 0.13

<TIuscz>= 0.18

<TIuscz2>= 0.08

<rIuscz>= 0.25

<Tyscz > = 0.04

<ruscz > = 0.14

<rIwsc2 >= 0.16

<rwsc2>= 0.28

<rwsc1>= 0.05

<rIusce > = 0.16

<TIusc2>= 0.13

MSC1

MSC2

MSC3



